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p.20. 2 %8 2. A% BASIC

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

(1) 6x<17.x<%7. (2) 51‘212.3}3%.
(3) 222 +3) — (z— 6) < 18. 3z < 6. < 2. (4) 4z +4) — 320 +3) <12. —2z <5. 2 > —%
HUAD A8 E = AT & 5002 > 500 x (1 — 0.2) x 40,z < 40. &> T 500z > 16000,z < 40. 32 < = < 40.

> T 33 ALAE 39 ABUF.
(1) B1AKLY -32>-9=2<3. FB2RLY —z>-1=2<1 LoTza<1

2) B1RED o< 12221 H2RED 1122 -2=2<2 E>T1<z<2.

1) -7 (z+1) 0. £oT-1<z<T. 2) (22 —1)(z +2) < 0. J:o’C—2<J;<%.

(3) 1222 — 50 —3>0 &0 (32 + 1)(4z — 3) > 0. J:ofx<—%7m>%.

D p>1&bzs1lz2p.

1) ~1<z<0,2>2. @2) -+ 1)(2z+1) <0 &0 x<—1,—%<x<1.

feill — il =ac+bd—ad—bc=a(c—d)—blc—d)=(a—b)(c—d). a>bec>d &bV a-b>0,c—d>0.

koT (a—b)(c—d)>0. foTED — HL>0. &>TEL > HL//
() ml=1+2 4L 1204000 0s0p>080 L 50D 50 mmTs L HRTHOBES Y

a_ b
vta > Ja b gy b sy ko4
2 b a b a

FHHL D L OOIHHMTH L MRFHOMRTHERIMRO oL &, Thbb & = % DrEIRD.
Yo T =P DLETHD, a>0b>0%50 a=bDE FIZMHDEEIHY L.
(2) a,b,c,d >0 &V ab,ed,ac,bd > 0. & > THINIEY & M FHOBIE & 0 w > Vabed,

%"d > Vachd = Vabed. N5 T RTEQRE D S 0% H N2 & beT

(ab + cd)(ac + bd)
4

DR D LD DIIHHINEE LTI OBRTES VRV IO L &, $hbbab=cd D ac=bd DL ETH5.

> \abed: = abed. &-T (ab+ ed)(ac + bd) > dabed.

doTa?bec=bed’> = a?=d? a,d>0&Da=d LE>Thb=c
UEIZED a=dD»Db=cDE ZIZROEZIIHKDLD.
(1) 7l = (x—5)2=20// (2) ZB=(x+3)*+1=21>0//
(1) Zd (x+y)?+y?>20. F5Eao=—yy=0,Thbbr=y=0DL EITRHEDLD.
(2) 38 — £330 = 222 + 2y + 222 — 2wy — 2yz — 2zx = (2% — 22y + y?) + (y® — 2yz + 2%) + (22 — 22z + 2?)
=(@—-y)?+y—2>2 +(E-2)220 £oTHEHLZAHL F5Er=y=2DE SITWH K ID.
U={1,2,3,4,5,6,7,8,9,10}, A = {2,4,6,8,10}, B = {4,5,6,7,8}
(1) ANB = {4,6,8}. (2) AUB ={2,4,5,6,7,8,10}.
(3) ANB ={1,2,3,5,7,9,10}. (4) AUB ={1,2,3,5,7,9,10}.
U=1{1,23,4,56,7,8,9,10}, A = {1,3,5,7,9}
(1) AUB={1,2,3,5,7,9,10}. AUB ={4,6,8}. > TANBNC = {4,8}.
(2) ANBUC=ANBNC. ANBNC = {57} £k>TANBUT ={1,2,3,4,6,8,9,10}.

(1) . Khlixz=—4. ZOLE2=16>9Th2H, v <3. (ZNUHNDOKHITE L)



?2<9=22-9<0=(z+3)(z-3)<0=-3<z<3=x<3 XoTH.
114. z=y=0=2y=0,zy=0= =y =0. &> THELKM.
3=22=922=9%2=3. ko TH+u&f

2,y FRRDOT, 22+ =00 2=y=0. &> THEFHEME

—~ — —~ —~ —
~— ~ \[:D/ ~ ~
8
I

8
|

2y=1=2z+y=52x+y=5»x=2,y=1. Ko THREZMN.
115. 5= In < 4). p OEIES P13 P = {1,2,3,4).
116. (1) x 02Dz # 1. (2) z<1FklFz>3.
117. (1) F:iz4+y>0—>2>022y >0 & H:2S0F2Edys<0—-o2+yS0. 4.
Mz +yS0—2S0F23y 200 B
2 #H:z>0mDy>0—ay>0 H H:zgy<0-zz=S0F23y S0 B
TE xS0 FELFyS0— 2y 0. 4.
118. Xl = Tm AAFEDD n BEEIR S IE mn FFE. | ZFFEHTHIE L.
m DEEID 0 REEIE S m = 2% + 1, =20 + 1 (k| 13880) £ RkE3. £oT
mn = (2k +1)(20 +1) = 4kl = 2k = 20 + 1 = 2(2kl + k + 1) + L.
2kl + k + LIFEBEZD 0 22kl + k4 1) + 1 3FE. & o T mn 137

o THEIFFEHE Nz, Ko TrHDOME Imn PMEBIRSIE m WMERTH 20 E 721 n METH D] IFFEHEI 7/ /

p.22 CHECK

119. (1) -2z < —14. 2 > 7. (2) 2052 —2) 23Tz —6. —1la = —2. ¢ < %

120 FB1 A&V 4> 8=a2>-2 F2A&032-1210x+6=>2<-1. £oT-2<z2< 1.

121. (1) (z+1)(z—4) £0. £oT-1Zx 4. 2) (z+1)(z—2)>0. EoTax<-1,z>2.
3) 2=z=1,223. 4) z(z—1)(z—2)<0. £>Tzx<0,l<z <2

122. (1) D={-2(m+2)}>—4-(-m) =4m?> +20m + 16 =4(m+ 1)(m+4) > 0. > Tm < —4,m > —1.

(1)
2)m=00D2E 20 =0&02=0THRIZ1LDE2SEm#0. D= (-2)2—4m? =4—4m? > 0.
FotTm?-1=m+1)(m—-1)<0. -1<m<1l.m#0&0 -1<m<0,0<m< 1.
123. (1) Al = (z —2y)* +y*> 2 0. > Ta? —day+5y* 2 0.
FBFXx—-2y=0,y=0,Thbbr=y=0DL ZIZRYKDILD.
(2) £ -~ Al =a’>+1*—-2a—20+2=(a—1)2+(b—1)220.
HFH5lda—-1=0,—1=0,9hbba=b=1DE ETIZWH KD L.
124. 22 <4+ 12 2% —dr—12=(2+2)(z —6) <0 —2<2<6. 2?2 +50r S0 2(x+5) S0 52 <0.
(1) AnB={z|-2<z =<0} (2) AUB={z|-5=<z <6}.

125. A ={2,4,6,8,10}, B = {1,3,4,7,8,10}.
(1) ANB = {4,8,10}. (2) AUB ={2,4,5,6,8,9,10}. ¥>TAUB = {1,3,7}.

126. (1) e=1=a’ =122 =1%2=1 ko R &EA.  (2) 2=060=0. &>T BEFH [k

B)a=b=2sab=4ab=4»a=b=2 £->T 4kt

127 H:le=1-(x-1)(z—-2)=0 BE, E:Tz-1(x-2)#£0—-x# 1] E M : Te#£1— (z—-1)(z—2) #0]



